Contract # 33336

Advertiser

Political Issue/Peachtree PAC (3675)

Albany CBS (WSWG)

Jan. 2021

\$22,780.00

125

	WSWG
owswg44	

MAIN STREET MEDIA GROUP PO BOX 25093 ALEXANDRIA, VA 22314

		,	
Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	/	Commission	\$3,417.00
		Net Total	\$19,363.00
Account Types	National/Political	Sales Tax	
Billing Type	Standard		
Comments	Separation: 30		

Entered By

Tracy Shorts

	Schedule Dates	12/29/20-01/04/21	Last Modified	12/31/20	By Broadcast Month	Spots	Rate
P.O. BOX 4009 Salisbury, MD 21803				No	Grand Total:	125	\$22,780.00

CPE 238/509/5850

Line Type / Break Type	(Ref #) Dates	Sec Length Run T	imes SPW ^M Tu We Th Fr Sa	a Su Spots Rate	Total Station	Comments Entered
1.0 Revised Line / NEWS	12/29/20-01/04/21	1 :30 6A- 7A (EST)	1 1 1 1 1		CBS (WSWGO)	Daypart EM CBS Morning 12/7/2020 News
1.1 Normal Line / NEWS	12/29/20-01/04/21	1 :30 6A- 7A (EST)	1 1 1 1 1	5 \$30.00	\$150.00 Albany CBS (WSWG)	Daypart EM CBS Morning ###### News
2.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 3P- 4P (EST)	1 1 1 1 1		CBS (WSWGO)	Daypart DT LIVE with Kelly 12/7/2020 and Ryan
2.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 3P- 4P (EST)	1 1 1 1 1	4 \$20.00	\$80.00 Albany CBS (WSWG)	Daypart DT LIVE with Kelly ###### and Ryan
2.1.1 Closed Preempt	12/31/20				Albany CBS (WSWG)	Schedule Change/Exception - WILL BE FOOTBALL
3.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 4P- 5P (EST)	1 1 1 1 1		CBS (WSWGO)	Daypart EF The Dr. Oz 12/7/2020 Show
3.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 4P- 5P (EST)	1 1 1 1 1	4 \$20.00	\$80.00 Albany CBS (WSWG)	Daypart EF The Dr. Oz ###### Show
3.1.1 Closed Preempt	12/31/20				Albany CBS (WSWG)	Schedule Change/Exception - WILL BE FOOTBALL
4.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 5P- 5:30P (EST)) 1 1 1 1 1		CBS (WSWGO)	Daypart EN Jeopardy! 2 12/7/2020
4.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 5P- 5:30P (EST) Contract # 33) 1 1 1 1 1 336	4 \$25.00	\$100.00 Albany CBS (WSWG) Albany CBS (V	Daypart EN Jeopardy! 2 ###### VSWG)
	WSWG	Advertiser	Political Issue/Peachtree PAC (3675)	Entered By	Tracy Shorts Jan. 2021	125 \$22,780.00

owswg<mark>44</mark>

MAIN STREET MEDIA GROUP PO BOX 25093 ALEXANDRIA, VA 22314

<i>422,7</i> 00:00

	. BOX 4009 sbury, MD 21803	Schedule Dates	12/29/20-01/04/21				Last Modified	12/31/20 No		By Broadcast Mont Grand Total:		<u>Rate</u> 22,780.00
		Agency CPE	MAIN STREET MEDIA 238/509/5850	group (1	L397)		СО-ОР					
Line Line Type / Break Type (Ref #)) Dates	Sec Length	Run Times SPW	M Tu	We Th Fr	Sa Su	Spots Rat	te	Total	Station	Comments	Entered
4.1.1 Closed Preempt	12/31/20								Albany CBS	(WSWG)	Schedule Change/Except - WILL BE FOOTBALL	.ion
5.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 5:30P-6	6P (EST)	1 1	1 1 1				CBS (WSW	GO)	Daypart EN Extra	12/7/2020
5.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 5:30P-6	6P (EST)	1 1	1 1 1		4	\$25.00	\$100.00 Albany CBS	, (WSWG)	Daypart EN Extra	######
5.1.1 Closed Preempt	12/31/20								Albany CBS	(WSWG)	Schedule Change/Except - WILL BE FOOTBALL	ion
6.0 Revised Line / NEWS	12/29/20-01/04/21	1 :30 6P-6:30	JP (EST)	1 1	1 1 1				CBS (WSW	GO)	Daypart EN South Georgi News @ 6	gia 12/7/2020
6.1 Normal Line / NEWS	12/29/20-01/04/21	1 :30 6P- 6:30	JP (EST)	1 1	1 1 1		4	\$60.00	\$240.00 Albany CBS	(WSWG)	Daypart EN South Georgi News @ 6	gia ######
6.1.1 Closed Preempt	12/29/20								Albany CBS	(WSWG)	Technical Difficulty/Spot	
7.0 Revised Line / Digital	12/29/20-01/04/21	1 :30 6:30P-7	7P (EST)	1 1	1 1 1				CBS (WSW	GO)	Daypart EN CBS Evening News with Jeff Glor	12/7/2020
7.1 Normal Line / Digital	12/29/20-01/04/21	1 :30 6:30P- 7	7P (EST)	1 1	1 1 1		4 \$	\$210.00	\$840.00 Albany CBS	(WSWG)	Daypart EN CBS Evening News with Jeff Glor	9 #####
7.1.1 Closed Preempt	12/31/20								Albany CBS	(WSWG)	Technical Difficulty/Spot	-
		Contract #	33336							Albany CBS (WSW0	G)	
WSV	WG	Advertiser	r Political Issue	e/Peachtre	e PAC (3675)		Entered B	3у Т	racy Shorts	Jan. 2021	125 \$	\$22,780.00

WSWG



MAIN STREET MEDIA GROUP	
PO BOX 25093	
ALEXANDRIA, VA 22314	

Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	/	Commission	\$3,417.00
		Net Total	\$19,363.00
Account Types	National/Political	Sales Tax	
Billing Type	Standard		
Comments	Separation: 30		

P.O. BOX 4009 Salisbury, MD 21803				Last Modified	12/31/20 No	By Broadcast Month Grand Total:		<u>Rate</u> \$22,780.00	
	Agency CPE	MAIN STREET MEDIA GROUP (1397) 238/509/5850		CO-OP					
LineLine Type / Break Type (Ref #)Dates8.0Revised Line / SPOT12/29/20-01/04/21	Sec Length 1 :30 7P- 7:3		M Tu We Th Fr 1 1 1 1 1	Sa Su Spots Rat	e Total	Station CBS (WSWGO)	Comments Daypart PA Wheel of	Entered 12/7/2020	

											Fortune	
8.1 Normal Line / SPOT	12/29/20-01/04/21	1	:30 7P- 7:30	IP (EST)	1 1	1 1 1	5	\$450.00	\$2,250.00	Albany CBS (WSWG)	Daypart PA Wheel of Fortune	#####
9.0 Revised Line / SPOT	12/29/20-01/04/21	1	:30 7:30P-8	P (EST)	1 1	1 1 1				CBS (WSWGO)	Daypart PA Jeopardy!	12/7/2020
9.1 Normal Line / SPOT	12/29/20-01/04/21	1	:30 7:30P-8	P (EST)	1 1	1 1 1	5	\$450.00	\$2,250.00	Albany CBS (WSWG)	Daypart PA Jeopardy!	######
10.0 Revised Line / PRIME	01/04/21-01/04/21	1	:30 8P-9P(EST)	1					CBS (WSWGO)	Daypart PTCBS PRIME	12/7/2020
10.1 Normal Line / PRIME	01/04/21-01/04/21	1	:30 8P-9P (EST)	1		1	\$610.00	\$610.00	Albany CBS (WSWG)	Daypart PTCBS PRIME	######
11.0 Revised Line / PRIME	01/04/21-01/04/21	1	:30 9P-10P	(EST)	1					CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
11.1 Normal Line / PRIME	01/04/21-01/04/21	1	:30 9P-10P	(EST)	1		1	\$600.00	\$600.00	Albany CBS (WSWG)	Daypart PT CBS PRIME	######
12.0 Revised Line / NEWS	12/29/20-01/04/21	1	:30 7A-8A(EST)	2 2	1 2 1				CBS (WSWGO)	Daypart EM CBS This Morning 1	12/7/2020
12.1 Normal Line / NEWS	12/29/20-01/04/21	1	:30 7A- 8A (EST)	2 2	1 2 1	7	\$30.00	\$210.00	Albany CBS (WSWG)	Daypart EM CBS This Morning 1	######
12.1.1 Closed Preempt	01/04/21									Albany CBS (WSWG)	No Avail/Exception - SOLI	C
		Cont	ract #	33336						Albany CBS (W		
	VSWG		Advertiser	Politica	al Issue/Peachtre	ee PAC (3675)	Entered	i By	Tracy Shorts	Jan. 2021	125 \$2	22,780.00
<mark>⊘WSWG</mark> 44		Product		Political (1040)			External #	1021739	91			
		Brand		POLITICAL ISSU	JE (1529)		Demo					
		Salespers	on	HOUSE/NAT, H	OUSE/NAT (1074	4)	Order Type	Normal				
		Sales Off	ice	WSST			Package Deal					
MAIN STREET MEDIA	GROUP	Buyer Na	me				Commission %	15.00				
PO BOX 25093		Phone/Fa	x	/			Commission	\$3,417.0	00			
ALEXANDRIA, VA 223	314						Net Total	\$19,363	.00			
		Account '	Types	National/Politica	al		Sales Tax					
		Billing Ty	ре	Standard								
		Commen	ts	Separation: 30								

		Schedule Dates	12/29/20-01/04/21		Last Modified	12/31/20	By Broadcast Mont		Rate
	P.O. BOX 4009 Salisbury, MD 21803					No	Grand Total:	125 \$22	2,780.00
		Agency CPE	MAIN STREET MED 238/509/5850	IA GROUP (1397)	CO-OP				
Line Line Type / Break Type	(Ref #) Dates	Sec Length	Run Times SP	W M Tu We Th Fr Sa Su	Spots Ra	ate Total	Station	Comments	Entered
13.0 Revised Line / PRIME	01/04/21-01/04/21	1 :30 9:30P-	10P (EST)	1			CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
13.1 Normal Line / PRIME	01/04/21-01/04/21	1 :30 9:30P-	10P (EST)	1	1	\$600.00 \$600.00	0 Albany CBS (WSWG)	Daypart PT CBS PRIME	######
14.0 Revised Line / PRIME	01/04/21-01/04/21	1 :30 10P-11	.P (EST)	1			CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
14.1 Normal Line / PRIME	01/04/21-01/04/21	1 :30 10P-11	.P (EST)	1	1	\$750.00 \$750.00	0 Albany CBS (WSWG)	Daypart PT CBS PRIME	######
15.0 Revised Line / NEWS	12/29/20-01/04/21	1 :30 11P-11	.:35P (EST)	1 1 1 1 1			CBS (WSWGO)	Daypart LN South Georgia News @ 11	12/7/2020
15.1 Normal Line / NEWS	12/29/20-01/04/21	1 :30 11P- 11	:35P (EST)	1 1 1 1 1	5	\$60.00 \$300.00	0 Albany CBS (WSWG)	Daypart LN South Georgia News @ 11	######
16.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 11:35P-	- 12:37A (EST)	1 1 1 1 1			CBS (WSWGO)	Daypart LF The Late Show with Stephen Colbert	12/7/2020
16.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 11:35P-	- 12:37A (EST)	1 1 1 1 1	5	\$30.00 \$150.00	0 Albany CBS (WSWG)	Daypart LF The Late Show with Stephen Colbert	######
17.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 12:37A	- 1:37A (EST)	1 1 1 1 1			CBS (WSWGO)	Daypart RT The Late Late Show with James Corden	12/7/2020
17.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 12:37A	- 1:37A (EST)	1 1 1 1 1	5	\$30.00 \$150.00	0 Albany CBS (WSWG)	Daypart RT The Late Late Show with James Corden	######
18.0 Revised Line / PRIME	12/29/20-12/29/20	1 :30 9P- 10P Contract #	33336	1			CBS (WSWGO) Albany CBS (WSWG	Daypart PT FBI G)	12/7/2020
	WSWG	Advertise	r Political Is	sue/Peachtree PAC (3675)	Entered	By Tracy Shorts	Jan. 2021	125 \$22	2,780.00
OWSWG <mark>44</mark>		Product	Political (1040)		External #	10217391			
		Brand	POLITICAL ISSUE (1529)	Demo				
		Salesperson	HOUSE/NAT, HOUS		Order Type	Normal			
		Sales Office	WSST		Package Deal				
MAIN STREET MEDI		Buyer Name			Commission %	15.00			
PO BOX 25093		Phone/Fax	/		Commission	\$3,417.00			
ALEXANDRIA, VA 2	2314				Net Total	\$19,363.00			

Account Types National/Political

Sales Tax

Billing Type Standard

Comments Separation: 30

). BOX 4009	Schedule	Dates	12/29/20-01/0	04/21				Last Modified	12/3 No	1/20		By Broadcast Month Grand Total:	n <u>Spots</u> 125	<u>Rate</u> \$22,780.00
Sal	isbury, MD 21803														
		Agency CPE		MAIN STREET 238/509/5850		GROUP (1	.397)		CO-OP						
Line Line Type / Break Type (Ref #	t) Dates	Sec Ler	ngth	Run Times	SPW	M Tu	We Th Fr	Sa Su	Spots	Rate	Total		Station	Comments	Entered
18.1 Normal Line / PRIME	12/29/20-12/29/20	1	:30 9P-10P ((EST)		1			1	\$600.00	\$600.00	Albany CBS	(WSWG)	Daypart PT FBI	######
19.0 Revised Line / PRIME	12/29/20-12/29/20	1	:30 10P-11P	e (EST)		1						CBS (WSW0)	Daypart PT The FBI Declassified	12/7/2020
19.1 Normal Line / PRIME	12/29/20-12/29/20	1	:30 10P-11P	e (EST)		1			1	\$750.00	\$750.00) Albany CBS		Daypart PT The FBI Declassified	######
20.0 Revised Line / PRIME	12/30/20-12/30/20	1	:30 10P-11P	e (EST)			1					CBS (WSW0	GO)	Daypart PT CBS PRIM	E 12/7/2020
20.1 Normal Line / PRIME	12/30/20-12/30/20	1	:30 10P-11P	P (EST)			1		1	\$750.00	\$750.00) Albany CBS	(WSWG)	Daypart PT CBS PRIM	E #####
21.0 Revised Line / PRIME	12/31/20-12/31/20	1	:30 8:31P-9	P (EST)			1					CBS (WSWO	GO)	Daypart PT CBS PRIM	E 12/7/2020
21.1 Normal Line / PRIME	12/31/20-12/31/20	1	:30 8:31P-9	P (EST)			1		1	\$600.00	\$600.00) Albany CBS	(WSWG)	Daypart PT CBS PRIM	E ######

22.0 Revised Line / PRIME	12/31/20-12/31/20	1 :30 9P-9:3	OP (EST)		1			CBS (\	VSWGO)	Daypart PT CBS PRIN	1E 12/7/2020
22.1 Normal Line / PRIME	12/31/20-12/31/20	1 :30 9P- 9:3	OP (EST)		1	1	\$690.00	\$690.00 Albany	CBS (WSWG)	Daypart PT CBS PRIN	1E ######
23.0 Revised Line / NEWS	12/29/20-01/04/21	1 :30 8A-9A	(EST)	1 1	2 1 2			CBS (\	VSWGO)	Daypart EM CBS This Morning 2	12/7/2020
23.1 Normal Line / NEWS	12/29/20-01/04/21	1 :30 8A-9A	(EST)	1 1	2 1 2	7	\$30.00	\$210.00 Albany	CBS (WSWG)	Daypart EM CBS This Morning 2	#####
24.0 Revised Line / PRIME	12/31/20-12/31/20	1 :30 9:30P- Contract #	10P (EST) 33336		1			CBS (\	VSWGO) Albany CBS (WS	Daypart PT CBS PRIM SWG)	1E 12/7/2020
	SWG	Advertise	r Politica	al Issue/Peachtre	ee PAC (3675)	Entered	Ву	Tracy Shorts	Jan. 2021	125	\$22,780.00
⊙WSWG <mark>44</mark>		Product	Political (1040)			External #	10217	391			
		Brand	POLITICAL ISS	UE (1529)		Demo					
		Salesperson	HOUSE/NAT, H	IOUSE/NAT (1074	4)	Order Type	Norma	I			
		Sales Office	WSST			Package Deal					
MAIN STREET MEDIA O	GROUP	Buyer Name				Commission %	15.00				
PO BOX 25093		Phone/Fax	/			Commission	\$3,417	.00			
ALEXANDRIA, VA 2231	14					Net Total	\$19,36	3.00			
		Account Types	National/Politica	al		Sales Tax					
		Billing Type	Standard								
		Comments	Separation: 30								

	Schedule Dates	12/29/20-01/04/21	Last Modified	12/31/20	By Broadcast Month	Spots	Rate
.O. BOX 4009 alisbury, MD 21803				Νο	Grand Total:	125	\$22,780.00
	Agency CPE	MAIN STREET MEDIA GROUP (1397) 238/509/5850	CO-OP				

Line Type / Break Type (Ref #)	Dates	Sec Len	igth Run Times	SPW	M Tu	We Th Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered
24.1 Normal Line / PRIME	12/31/20-12/31/20	1	:30 9:30P- 10P (EST)			1		1	\$690.00	\$690.00	Albany CBS (WSWG)	Daypart PT CBS PRIME	######
25.0 Revised Line / PRIME	12/31/20-12/31/20	1	:30 10P-11P (EST)			1					CBS (WSWGO)	Daypart PT SCBS PRIME	12/7/2020
25.1 Normal Line / PRIME	12/31/20-12/31/20	1	:30 10P- 11P (EST)			1		1	\$600.00	\$600.00	Albany CBS (WSWG)	Daypart PT SCBS PRIME	######
26.0 Revised Line / PRIME	01/01/21-01/01/21	1	:30 8P-9P (EST)			1					CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
26.1 Normal Line / PRIME	01/01/21-01/01/21	1	:30 8P- 9P (EST)			1		1	\$690.00	\$690.00	Albany CBS (WSWG)	Daypart PT CBS PRIME	######
27.0 Revised Line / PRIME	01/01/21-01/01/21	1	:30 9P-10P (EST)			1					CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
27.1 Normal Line / PRIME	01/01/21-01/01/21	1	:30 9P- 10P (EST)			1		1	\$690.00	\$690.00	Albany CBS (WSWG)	Daypart PT CBS PRIME	######
28.0 Revised Line / PRIME	01/01/21-01/01/21	1	:30 10P-11P (EST)			1					CBS (WSWGO)	Daypart PT CBS PRIME	12/7/2020
28.1 Normal Line / PRIME	01/01/21-01/01/21	1	:30 10P- 11P (EST)			1		1	\$690.00	\$690.00	Albany CBS (WSWG)	Daypart PT CBS PRIME	######
29.0 Revised Line / NEWS	01/02/21-01/02/21	1	:30 8A-10A (EST)				2				CBS (WSWGO)	Daypart RT CBS This Morning: Saturday	12/7/2020
29.1 Normal Line / NEWS	01/02/21-01/02/21	1	:30 8A- 10A (EST)				2	2	\$60.00	\$120.00	Albany CBS (WSWG)	Daypart RT CBS This Morning: Saturday	######
30.0 Revised Line / SPOT	01/02/21-01/02/21	1	:30 3P- 3:30P (EST)				1				CBS (WSWGO)	Daypart WK State Farm College Football Today	12/7/2020
		Contr	act # 33336								Albany CBS (WSW	5	

Political Issue/Peachtree PAC (3675)

Advertiser



MAIN STREET MEDIA GROUP PO BOX 25093 ALEXANDRIA, VA 22314

Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	/	Commission	\$3,417.00
		Net Total	\$19,363.00
Account Types	National/Political	Sales Tax	
Billing Type	Standard		
Comments	Separation: 30		

12/07/20 Date Entered

Entered By

Tracy Shorts

Jan. 2021

\$22,780.00

125

			12/23/20 01/01/21		Euse Pioan	12/51/20	Dy Dioddedd		1440
	P.O. BOX 4009 Salisbury, MD 21803					No	Grand Total:	125 \$	22,780.00
		Agency CPE	MAIN STREET MEDIA 238/509/5850	GROUP (1397)	CO-OP				
Line Line Type / Break	Type (Ref #) Dates	Sec Length	Run Times SPW	M Tu We Th Fr	Sa Su Spots	Rate To	tal Station	Comments	Entered
30.1 Revised Line / SPOT	01/02/21-01/02/21	1 :30 3P- 3:30)P (EST)		1		Albany CBS (WSWG)	Daypart WK State Farm College Football Today	######
30.2 Normal Line / SPOT	01/02/21-01/02/21	1 :30 3P- 3:30)P (EST)		1 1	\$300.00	\$300.00 Albany CBS (WSWG)	Daypart WK Sports	######
31.0 Revised Line / NEWS	01/02/21-01/02/21	1 :30 6:30P-7	7P (EST)		1		CBS (WSWGO)	Daypart EN CBS Evening News	12/7/2020
31.1 Normal Line / NEWS	01/02/21-01/02/21	1 :30 6:30P-7	7P (EST)		1	\$210.00	Albany CBS (WSWG)	Daypart EN CBS Evening News	######
31.1.1 Closed Preempt	01/02/21						Albany CBS (WSWG)	No Avail/Exception - SOL OUT	D
32.0 Revised Line / SPOT	01/02/21-01/02/21	1 :30 7P- 7:30	DP (EST)		1		CBS (WSWGO)	Daypart PA Wheel of Fortune	12/7/2020
32.1 Revised Line / SPOT	01/02/21-01/02/21	1 :30 7P- 7:30	DP (EST)		1		Albany CBS (WSWG)	Daypart PA Wheel of Fortune	######
32.2 Normal Line / SPOT	01/02/21-01/02/21	2 :30 7P- 7:30	DP (EST)		1 1	\$120.00	\$120.00 Albany CBS (WSWG)	Daypart PA Wheel of Fortune	######
33.0 Revised Line / SPOT	01/02/21-01/02/21	1 :30 7:30P- 8	BP (EST)		1		CBS (WSWGO)	Daypart PA Jeopardy	12/7/2020
33.1 Normal Line / SPOT	01/02/21-01/02/21	1 :30 7:30P- 8 Contract #	33336		1 1	\$150.00	\$150.00 Albany CBS (WSWG) Albany CBS	Daypart PA Jeopardy (WSWG)	######

Political Issue/Peachtree PAC (3675)

Last Modified

12/31/20

Tracy Shorts

Entered By

By Broadcast Month

Jan. 2021

125

\$22,780.00

Spots

Rate

12/29/20-01/04/21

Schedule Dates

Advertiser

WSWG

owswc///



Line

MAIN STREET MEDIA GROUP	
PO BOX 25093	
ALEXANDRIA, VA 22314	

Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	/	Commission	\$3,417.00
		Net Total	\$19,363.00
Account Types	National/Political	Sales Tax	
Billing Type	Standard		
Comments	Separation: 30		

	O. BOX 4009 alisbury, MD 21803	Schedule Dates	12/29/20-01/04/	21				Last Modified	12 No	/31/20	By Broadcast Month	Spots 125	<u>Rate</u> \$22,780.00
		Agency CPE	MAIN STREET MI 238/509/5850	EDIA GRO)UP (13	397)		CO-OP					
Line Type / Break Type (Re	f #) Dates	Sec Length	Run Times	SPW M	Tu	We Th Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered

OWSWG		Product	Politica	al (1040)		E	xternal #	10217	391			
WS	WG		Advertiser	Political Issue/Peachtree	PAC (3675)		Entere	ed By	Tracy Shorts	Jan. 2021	125 \$2	2,780.00
		Cont	ract # 3333	36						Albany CBS (W	SWG)	
38.1 Normal Line / SPOT	01/03/21-01/03/21	1	:30 8A- 8:30A (EST)			1	1	\$30.00	\$30.00 Albany	CBS (WSWG)	Daypart RT Matter of Fact	######
38.0 Revised Line / SPOT	01/03/21-01/03/21	1	:30 8A-8:30A (EST)			1			CBS (W	/SWGO)	Daypart RT Matter of Fact	12/7/2020
37.1 Normal Line / SPOT	01/02/21-01/02/21	1	:30 11P- 11:30P (EST)		1		1	\$30.00	\$30.00 Albany	CBS (WSWG)	Daypart LN Marquee Backstage	######
37.0 Revised Line / SPOT	01/02/21-01/02/21	1	:30 11P-11:30P(EST)		1				CBS (W	/SWGO)	Daypart LN Marquee Backstage	12/7/2020
36.1 Normal Line / PRIME	01/02/21-01/02/21	1	:30 10P- 11P (EST)		1		1	\$300.00	\$300.00 Albany	CBS (WSWG)	Daypart PT 48 Hours	######
36.0 Revised Line / PRIME	01/02/21-01/02/21	1	:30 10P-11P (EST)		1				CBS (W	/SWGO)	Daypart PT 48 Hours	12/7/2020
35.1 Normal Line / PRIME	01/02/21-01/02/21	1	:30 8P- 9P (EST)		1		1	\$240.00	\$240.00 Albany	CBS (WSWG)	Daypart PT CBS Saturday Encore	######
35.0 Revised Line / PRIME	01/02/21-01/02/21	1	:30 8P-9P (EST)		1				CBS (W	/SWGO)	Daypart PT CBS Saturday Encore	12/7/2020
34.1 Normal Line / SPOT	12/29/20-01/04/21	1	:30 9A- 10A (EST)	1 1	1 1 1		5	\$90.00	\$450.00 Albany	CBS (WSWG)	Daypart DT Live with Kelly and Ryan	#####
34.0 Revised Line / SPOT	12/29/20-01/04/21	1	:30 9A-10A (EST)	1 1	1 1 1				CBS (W	/SWGO)	Daypart DT Live with Kelly and Ryan	12/7/2020

MAIN STREET MEDIA GROUP

ALEXANDRIA, VA 22314

PO BOX 25093

Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	1	Commission	\$3,417.00
		Net Total	\$19,363.00
Account Types	National/Political	Sales Tax	
Billing Type	Standard		
Comments	Separation: 30		

	Schedule Dates	12/29/20-01/04/21	Last Modified	12/31/20	By Broadcast Month	Spots	Rate
P.O. BOX 4009 Salisbury, MD 21803				No	Grand Total:	125	\$22,780.00
	Agency	MAIN STREET MEDIA GROUP (1397)	CO-OP				

Agency	MAIN STREET MEDIA GROUP (1397)	CO-OP
CPE	238/509/5850	

Line Type / Break Type (Ref #)	Dates	Sec Length	Run Times	SPW	M Tu	We Th Fr	Sa Su	Spots	Rate	Total	Station	Comments	Entered	
39.0 Revised Line / NEWS	01/03/21-01/03/21	1 :30 9A-1	0:30A (EST)				2				CBS (WSWGO)	Daypart RT CBS News Sunday Morning	12/7/2020	
39.1 Normal Line / NEWS	01/03/21-01/03/21	1 :30 9A-1	0:30A (EST)				2	2	\$90.00	\$180.0	0 Albany CBS (WSWG)	Daypart RT CBS News Sunday Morning	######	
40.0 Revised Line / NEWS	01/03/21-01/03/21	1 :30 10:30)A- 11:30A (EST)				1				CBS (WSWGO)	Daypart RT Face The Natio	n 12/7/2020	
40.1 Normal Line / NEWS	01/03/21-01/03/21	1 :30 10:30)A- 11:30A (EST)				1	1	\$120.00	\$120.0	0 Albany CBS (WSWG)	Daypart RT Face The Natio	n ######	
41.0 Revised Line / SPOT	01/03/21-01/03/21	1 :30 11:30	0A- 12P (EST)				1				CBS (WSWGO)	Daypart RT SSN- SHORTLIST	12/7/2020	
41.1 Revised Line / SPOT	01/03/21-01/03/21	1 :30 11:30	0A- 12P (EST)				1				Albany CBS (WSWG)	Daypart RT SSN- SHORTLIST	######	
41.2 Normal Line / SPOT	01/03/21-01/03/21	4 :30 11:30)A- 12P (EST)				1	1	\$30.00	\$30.0	0 Albany CBS (WSWG)	Daypart RT SSN- SHORTLIST	######	
42.0 Revised Line / SPOT	01/03/21-01/03/21	1 :30 12P-	1P (EST)				1				CBS (WSWGO)	Daypart WK The NFL Today	/ 12/7/2020	
42.1 Revised Line / SPOT	01/03/21-01/03/21	1 :30 12P-	1P (EST)				1				Albany CBS (WSWG)	Daypart WK The NFL Today	/ ######	
42.2 Normal Line / SPOT	01/03/21-01/03/21	2 :30 12P-	1P (EST)				1	1	\$100.00	\$100.0	0 Albany CBS (WSWG)	Daypart WK The NFL Today	, ######	
43.0 Revised Line / NEWS	01/03/21-01/03/21	1 :30 6:30	P- 7P (EST)				1				CBS (WSWGO)	Daypart EN CBS Evening News	12/7/2020	
		Contract #	33336											

Political Issue/Peachtree PAC (3675)

Contract



Advertiser

33336



MAIN STREET MEDIA GROUP PO BOX 25093 ALEXANDRIA, VA 22314

Product	Political (1040)	External #	10217391
Brand	POLITICAL ISSUE (1529)	Demo	
Salesperson	HOUSE/NAT, HOUSE/NAT (1074)	Order Type	Normal
Sales Office	WSST	Package Deal	
Buyer Name		Commission %	15.00
Phone/Fax	/	Commission	\$3,417.00
		Net Total	\$19,363.00

Entered By

Tracy Shorts

Jan. 2021

125

\$22,780.00

Account Types National/Political

Sales Tax

Billing Type Standard

Comments Separation: 30

P.O. BOX 4009 Salisbury, MD 21803	Schedule Dates	12/29/20-01/04/21			Last Modified	12/31/2 No	20	<u>By Bro</u> Grand	oadcast Month Total:	<u>Spots</u> 125 \$2	<u>Rate</u> 2,780.00
	Agency CPE	MAIN STREET MEDIA 238/509/5850	A GROUP (1397)		CO-OP						
Line Line Type / Break Type (Ref #) Dates 43.1 Normal Line / NEWS 01/03/21-01/03/21	Sec Length 1 :30 6:30P-	Run Times SPW 7P (EST)	/ M Tu We Th Fr	Sa Su 1	Spots	Rate \$210.00	Total	Station Albany CBS (WSWG)		Comments Daypart EN CBS Evening News	Entered ######
43.1.1 Closed Preempt 01/03/21 44.0 Revised Line / PRIME 01/03/21-01/03/21	1 :30 7P-8P			2				Albany CBS (WSWG) CBS (WSWGO)	1 [No Avail/Spot - SOLD OUT Daypart PT 60 Minutes	12/7/2020
44.1 Normal Line / PRIME 01/03/21-01/03/21 44.1.1 Closed Preempt 01/03/21	1 :30 7P- 8P			2	1	\$600.00	\$600.00	Albany CBS (WSWG) Albany CBS (WSWG)	N C	Daypart PT 60 Minutes No Avail/Exception - SOLE DUT	
45.0 Revised Line / SPOT 12/29/20-01/04/21	1 :30 10A-1	1A (EST)	1 1 1 1 1					CBS (WSWGO)		Daypart DT Let's Make a Deal	12/7/2020

45.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 10A-	11A (EST)	1 1 1 1 1		4	\$100.00	\$400.00 Albany	CBS (WSWG)	Daypart DT Let's Make a Deal	#####
45.1.1 Closed Preempt	12/31/20							Albany	CBS (WSWG)	Marked as Did not Air/Spo - LETS MAKE A DEAL PREEMPTED	ot
46.0 Revised Line / SPOT	01/03/21-01/03/21	3 :30 10P-	11P (EST)		1			CBS (W	/SWGO)	Daypart PT NCIS: New Orleans	12/7/2020
46.1 Normal Line / SPOT	01/03/21-01/03/21	1 :30 10P-	11P (EST)		1	1 :	\$690.00	\$690.00 Albany	CBS (WSWG)	Daypart PT NCIS: New Orleans	######
		Contract #	33336						Albany CBS (WS		
	WG	Advent	ser Political I	ssue/Peachtree PAC (3675)		Entered I	Ву	Tracy Shorts	Jan. 2021	125 \$2	2,780.00
⊘WSWG<mark>/4/</mark>4		Product	Political (1040)			External #	102173	91			
		Brand	POLITICAL ISSUE	(1529)		Demo					
		Salesperson	HOUSE/NAT, HOU	JSE/NAT (1074)		Order Type	Normal				
		Sales Office	WSST			Package Deal					
MAIN STREET MEDIA G	ROUP	Buyer Name				Commission %	15.00				
PO BOX 25093		Phone/Fax	/			Commission	\$3,417.				
ALEXANDRIA, VA 22314	ŀ					Net Total	\$19,363	3.00			
		Account Types	National/Political			Sales Tax					
		Billing Type	Standard								
		Comments	Separation: 30								

		Schedule Dates	12/29/20-01/04/21				Last Modified	12/31/20		By Broadcast Mont		<u>Rate</u>
	P.O. BOX 4009 Salisbury, MD 21803							No		Grand Total:	125	\$22,780.00
		Agency CPE	MAIN STREET MEDI/ 238/509/5850	A GROUP (1	397)		со-ор					
Line Line Type / Break Type	(Ref #) Dates	Sec Length	Run Times SPV	V M Tu	We Th Fr	Sa Su	Spots R	Rate	Total	Station	Comments	Entered
47.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 11A- 12I	P (EST)	1 1	1 1 1				C	CBS (WSWGO)	Daypart DT Price is	Right 12/7/2020
47.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 11A- 12I	P (EST)	1 1	1 1 1		5	\$300.00	\$1,500.00 A	Albany CBS (WSWG)	Daypart DT Price is	Right ######
48.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 12:30P-	1:30P (EST)	1 1	1 1 1				C	CBS (WSWGO)	Daypart DT The You the Restless	ng and 12/7/2020
48.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 12:30P-	1:30P (EST)	1 1	1 1 1		5	\$120.00	\$600.00 A	Albany CBS (WSWG)	Daypart DT The You the Restless	ng and ######
49.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 1:30P-2	P (EST)	1 1	1 1 1				C	CBS (WSWGO)	Daypart DT The Bold the Beautiful	l and 12/7/2020
49.1 Normal Line / SPOT	12/29/20-01/04/21	1 :30 1:30P- 2	P (EST)	1 1	1 1 1		2	\$120.00	\$240.00 A	Albany CBS (WSWG)	Daypart DT The Bold the Beautiful	1 and ######
49.1.1 Closed Preempt	12/31/20								A	Albany CBS (WSWG)	No Avail/Exception - OUT	SOLD
49.1.2 Closed Preempt	01/01/21								A	Albany CBS (WSWG)	No Avail/Exception - OUT	SOLD
49.1.3 Closed Preempt	01/04/21								A	Albany CBS (WSWG)	No Avail/Exception - OUT	SOLD
50.0 Revised Line / SPOT	12/29/20-01/04/21	1 :30 2P- 3P (Contract #	est) 33336	1 1	1 1 1				C	BS (WSWGO) Albany CBS (WSW	Daypart DT The Tall G)	12/7/2020
	WSWG	Advertiser	Political Issu	ue/Peachtre	e PAC (3675))	Entered	1 By	racy Shorts	Jan. 2021	125	\$22,780.00
owswg<mark>4</mark>4		Product	Political (1040)				External #	10217391				
		Brand	POLITICAL ISSUE (1	529)			Demo					
		Salesperson	HOUSE/NAT, HOUSE	/NAT (1074	ł)		Order Type	Normal				
		Sales Office	WSST				Package Deal					
MAIN STREET MEDI	IA GROUP	Buyer Name					Commission %	15.00				
PO BOX 25093		Phone/Fax	/				Commission	\$3,417.00				
ALEXANDRIA, VA 2	2314						Net Total	\$19,363.0	0			
		Account Types	National/Political				Sales Tax					

Billing Type Standard

Comments Separation: 30

P.O. BOX 4009 Salisbury, MD 21803		Schedule Dates	12/29/20-01/04/	21			Last Modifie	d 12/31/ No	20	<u>By Broadcast Mo</u> Grand Total:	nth Spots 125	<u>Rate</u> \$22,780.00
		Agency CPE	MAIN STREET M 238/509/5850	edia groui	P (1397)		CO-OP					
Line Line Type / Break Type (Ref #) 50.1 Normal Line / SPOT	Dates 12/29/20-01/04/21	Sec Length 1 :30 2P- 3P		SPW M T		r Sa Su 1	Spots 4	Rate \$30.00	Total \$120.00 Alban	Station y CBS (WSWG)	Comments Daypart DT The Talk	Entered ######
50.1.1 Closed Preempt 51.0 M/G For 2.1.1,3.1.1 / SPOT	12/31/20 01/04/21-01/04/21	1 :30 3P- 4P	(EST)	2			2	\$20.00		y CBS (WSWG) y CBS (WSWG)	Schedule Change/Exce - WILL BE FOOTBALL Daypart DT LIVE with and Ryan	

CONFIRMATION CONTRACT

Accepted-Agency/Advertiser:

Date:

Accepted-Station:

Date:

Comments:

WSWG-DT CBS certify that our advertising sales agreements do not discriminate on the basis of race or ethnicity and that all such agreements will contain nondiscrimination clauses. This includes the placement, scheduling, and compl

B/E Bookend P/B Piggy Back

Printed At: 02:56 PM on Friday, January 29 2021

Page 12 of 12